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1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

1. Explain Statically Determinate and In Determinate Beam with
examples.
2. Distinguish between Fixed and Simply Supported Beams
Define Following
1. Degree of Indeterminacy 2. Deflection 3. Flexural Rigidity
4 Principal Planes 5. Stiffness 6. Carry over Factor 7. Eccentricity

A Simply supported Rectangular Beam of 3.0 m span carries a UDL of 100

KN/m over entire span. The maximum deflection is 10 mm. If Depth is twice of
the width of beam (d=2b),Find dimensions of the beam.

Take E= 3.125x10* N/mm?

A fixed beam AB, having 4m span, carries central point load of 40 KN and a
UDL of 10 KN/m over entire span. Draw SF and BM Diagram for the beam.

OR
A fixed beam AB, having 5m span, carries two UDL of 10 KN/m over a distance
of 2m from each supports. Draw SF and BM Diagram for the beam.

State and Explain Theorem of Three moments
A Continuous beam ABC is Fixed at A and simply supported at B & C. span
AB=BC=4m. It carries a central point load of 40 KN in span AB & UDL of 20
KN/m over entire span BC. Assume | =constant. . Draw SF and BM Diagram for
the beam using Theorem of Three moments.

OR
Explain Moment Distribution Method for the analysis of a Continuous beam.
Solve Example of Q. 3 (b) by Moment Distribution Method

In a strained material at a certain point two direct tensile stresses of 80 N/mm?

And 40 N/mm? are acting on planes which are perpendicular to each other.

Find out Normal, Tangential and Resultant stresses on an inclined plane making

45° to the plane having 80 N/mm? stress.

Solve the above example of Q. 4 (a) Graphically using Mohr’s Circle Method.
OR

In a strained material at a certain point two direct stresses of 20 N/mm? tensile

and 20 N/mm? compressive are acting on planes which are perpendicular to each

other along with a shear stress of 15 N/mm?. Determine

Principal planes , principal stresses and maximum shear stress.

Solve the above example of Q. 4 (a) Graphically using Mohr’s Circle Method

Explain Core or Kernel for Rectangular & Circular Sections
A point Load of 250 KN is acting at one corner of a Rectangular column of size
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200mm x400mm .Find out Stresses developed at each corner of the column.
OR

Explain Conditions of Stability of a Trapezoidal Dam

A masonry dam is 8m high, 3m wide at base and 1.5m wide at top retains water

up to 6m height. Find maximum & minimum pressure intensity at the base of the

dam. Take Density of masonry 20 KN/m3and of water 10 KN/m?®,
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